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4130 [/\yHERY SK70SRD-2 WiERE 0.28 m3 THEES=E 0.22 m3 [|aAN)LaEHEGE) A
4131 [/\yHERS SK75SR+ WiERE 0.28 m3 FHER=E 0.22 m3 AR 2
4132 [/\wHERS SK135SRDLC-2 LB SE 0.5 m3 THEEE 0.38 m3 [ )LaE#EGE) i3
4133 [/1\wHERS SK235SRDLC-2 WER=E 0.8 m3 THERE 0.59 m3 [aN)LaE#GE) i3
4134 |/\yDERD SK260DLC-8 LWER= 1 m3 THER=E 0.76 m3 [aR)LaB#EGER i
4135 [/\wHER™S SK350DLC—-8P g = 1.4 m3 a‘u#** = 1 m3 [TaR )L R 1K
4136 |FoyooL—2 KMG5220 mERED 175 t 5 2.5 m |[aR)LasL—2>0k) 2
M37 A D)—kHyE— eM1 7L-M& 55.9 cm LU % T (8%) izl
4138 |av9)—khyE— eM5 7L-ME 76.2 cm {9 LU £% T (%) i
4139 |avD)—khyiE— AZZ7353 7L—M& 76.2 cm e L% T(8%) izl
4140 | 9)—khyR— AZZ 11 502 7 LM 116.8 cm {9 LU £ T () 2
MM  |[FRIFINITA=v— ABG8820 fHENR 9 m mILE#T E (%) 1K
4142  |FoyoHoL— AC200-1 N 200 t X 3 m |G EEEGEE) ]
4143 |HOo—S—4HL—2 CCH500-31I C mEEES 50 t X 3.7 m (B SERGER 1K
444  [F5H5—an)L ZW30L LR E 0.46 m3 ITER= 0.38 m3 [TCM(#k) 2
4145 [F595—2an)L L13HD-3 WiERE 15 m3 THER=E 1.2 m3 [TCM#E) 1K
446 [/\vHERS SH330-5 LWER=E 1.4 m3 THER=E 1.04 m3 |{EFREHESEEGER) 1K
M47 |1 \whHER™Y SH350HD-5 WER=E 1.4 m3 THER= 1.04 m3  |[{FRERELERFE) 1K
4148  [/\wHERS SH460HD-5 LiER= 1.8 m3 ITHER= 14 m3  |[{EREHELEER I
4149  |ZAvO—5— HN220WHH-2 Erﬂ"" = 12.855 t FRERSEGR) i
4150 [#A4¥O—5— CP220-3 HliE 12.855 t H 3L E#ER) i3
4151 HEXHEEA -5k SPD06-3 ui.'jj,mi 144 L/min & Y7 5HE A 245 MPa |H L EERE(ER) 1K
4152  [F595—2an)L ZW30L WiERE 0.46 m3 THERE 0.38 m3 |B L EHGR) i3
4153  [F5H5—anN)L LX70HD-7 LWiER= 1.5 m3 THER=E 1.2 m3 |B I E#GE) 1K
4154 |ZAvO—5— CP220-3 HlmLE=S 12.855 t R BEILERHZ—/ #2
4155 |RENFEEHE GA-2800ES-IV EJ%’&E 2.8 kVA T > 3A—(¥k) i
4156  |RENFEEHE DLW-320LS2 ERAE=E 11.8 KVA BiEgH D 8.74 kW |T>3—%) 2
4157 | REIREH DCA-13ESYB EHRE=E 13 kVA T > 3—#k) i
4158 | HENFEEH DCA-25ESIB ERAE=E 25 kVA T > 3A—(¥k) il
4159 | HENFEEH DCA-45ESHB EHRE= 45 kVA T > 3—#k) i
4160 |HENHRTHE DCA-60ESHB ERA=E 60 kVA T > 3A—(¥k) 2
4161 | HEIREH DCA-60ESI2 ;P%@— 60 kVA T > 3—#k) i
4162 |IREIO—S5— SW652-1 Bl 7.1 t SEHETEGRR K
4163 |[O—FO—5— R2-2 ) ::’* = 9.98 t SEFE T EGRR i
4164 [/\wHE™S K-70-3 LR E 0.28 m3 THEEE 0.21 m3 |(#R)HHR% 1K
4165  |/\wP1™ K-70LC-3 ILERE 0.28 m3 THER=E 0.21 m3 |(BR)URE 1K
4166 |[/\wP1K™ K-80LCK-3 IWEERE 0.28 m3 THER=E 0.21 m3 |(#)UHR% 1K
4167 [/\vHERS K—75US-3 WA= 0.28 m3 TRERE 0.21 m3 |(#)IHRA 1K
4168  |[/\wP1K™ K-110-3 WEERE 0.45 m3 ITHER= 0.34 m3 (¥R % il
4169 [/\wHER™ K-110M-3 WSS 0.45 m3 THEEE 0.34 m3 |(#)oHR% i
4170 |73k K-120-3 LWER= 0.5 m3 TERE 0.39 m3 [(#k)HR% il
4171 [/\yHERS K—130K-3 WWiERE 0.5 m3 THER=E 0.39 m3 |(#k)oHR% 2
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4172 |1\wHERY K-135US-3 WA= 0.5 m3 ITER= 0.39 m3 (¥R % A
4173 [/\yHERH K-135USK-3 WiERE 0.5 m3 THER=E 0.39 m3 |(#)IHR4A2 ]
M74  [I\vHERS 304CSR LWER=E 0.11 m3 THERE 0.08 m3 |FIxX ¥ EES—=ZF () i
4175 |7\ EkS 312D-MS WiERE 0.5 m3 TEs=E 0.38 m3 |FiFFFES—Z=ZFHR) 2
4176 |71\ 314D CR WiERE 0.5 m3 EREAE 0.38 m3 |[FIEXvRES—=ZF#E) 1K
77 [FSH953—an)L 910H LWiER= 1.3 m3 THEAE 1.1 m3 [FTEv2ES—=Z#F) 1K
4178 |13k TB228 LWER= 0.068 m3 TERE 0.051 m3 | NS ERR 1K
M79  |1\vPERD TB235 WiERE 0.105 m3 THER=E 0.078 m3 | RS ERR 1K
4180 |/\wHikR TB250 ILIER=E 0.141 m3 TS 0.102 m3 | REERR 1K
4181  |k5H5—2an)L WA470-6NO g = 4.2 m3 TiERE 3.5 m3 |(E)/NAEERR IS
4182  |/\yIEK™D PC228US-3T3 WiER S 0.8 m3 EERE 0.6 m3 [(#k) /MR EMERR 1K
4183 [/\YD7R™D PC228USLC-3T3 WEERE 0.8 m3 THEBE 0.6 m3 |(#R)/MABERR 1K
4184 |F593—2an)L 5SDKL5 LWER=E 0.22 m3 TEA=E 0.17 m3 |(¥R)Z H B Ehidit 1K
4185 |[rSOZ—3anN)L 5SDKLS6 WER=E 0.28 m3 FHER=E 0.21 m3 [(#R)E H B Ehidits 1K
4186  |F2593—1anL 5SDKL7 LWER=E 0.32 m3 ITHER= 0.24 m3 |(¥R)Z H B Ehidits 1K
4187 |k —an)L 5SDKL8 LWER=E 0.34 m3 FHER=E 0.27 m3_|(¥k)= H B Bhisi gk 1K
4188 |F523—1an)L 5SDKL10 LWER=E 0.4 m3 TEA=E 0.31 m3 |(¥R)Z H B Ehidits 1K
4189 [F5H5—1an)L 5SDK5 WER=E 0.22 m3 FHER=E 0.17 m3 [(¥R)Z H B Ehidis 1K
4190  |[F593—2an)L 5SDK6 LWER= 0.28 m3 TEA=E 0.21 m3 |(¥R)Z H B Ehidis 1K
4191 [F595—2an)L 5SDK7 WER=E 0.32 m3 TEARE 0.24 m3 [(¥R)ZE H B Ehidis 15
4192  |F593—2an)L 5SDK8 LWER=E 0.34 m3 TEA=E 0.27 m3 |(¥R)Z H B Ehidig 1K
4193 [F5H5—anN)L 5SDK10 LWER=E 0.4 m3 FHER=E 0.31 m3_|(¥k)= H B Bhisi gk 1K
4194  |[F593—2an)L 4SDT40 LWER=E 1.6 m3 TEA=E 1.4 m3 |(¥R)Z H B Ehidis 1K
4195 [F5H95—2an)L 4SDT50 WiERE 2.4 m3 LEAR=E 2 m3 [(¥%) 2 H 5 sk 139
4196  |[RENFEEHE SDG25S-4A7 ERAE=E 25 kVA Jb#8 T 2 (#k) iz
4197 |REIREH SDG45AS-3B1 ERA=E 45 kVA Jb#8 T ZEHE) i
4198 |RENFEEHE SDG45AS-7B1 ERAE=E 45 kVA Jb#8 T 2 (#k) iz
4199 | Z=&IEhiEt PDS185S-3C1 HtH= 5.2 m3/min A 0.69 MPa |Jbi#% T X (#) 1K
4200 |[ZERITiEkk PDS185SC-3C1 HtH= 5.2 m3/min £ 0.69 MPa [Jt# T ZE(#%) 1K
4201 |/\wHERS ViO70-3A WiERE 0.28 m3 THEE=E 0.21 m3 [ v-EGk 1K
4202 | REHFEEHE DG450UMI-QP ERE=E 45 kVA FIADITERR i
4203  |[#REO—5— BW141AD-4AM-A HmiAEE 8.7 t e A TAVAC: ) K
4204  |[FTRA—ILOL—> KR-70H-L = J:ﬁbjj 70 t BB X 2.5 m |(BR)INEERERT 1K
4205  |iRA—ILHOL—> KRM-25H- II B ERER 25 t R X 2.8 m |RR)INERERT 1K
4206  |[TRA—ILOL—> KRM-13H-1I & EREA 13 t X 1.7 m |(BR)INEERERT I
4207 |sthA4—ILHL—> KRM-13HM-TT B EREA 4.9 t R X 5 m |RR)INERERT K
4208 |/ w4k PC40MR-3N1 LWiER= 0.14 m3 TiEs= 0.11 m3 [A<Va1i—F«)T4 (k) &
4209 [/\yHERSH PC55MR-3 LWERE 0.16 m3 IEEAE 0.12 m3 [Aa<wVa1—T4UT1 (k) ]
4210 [/ \HER™ PC55MR-3N1 BB E 0.16 m3 TEE=E 0.12 m3 |[avVvai—T4)74 (&) 1K




